Efficiency vs dr

0.8

x n
g C
» L
S 0.7 —
> -
Q L
o 0.6
[® s
i= C
o O0.5F---

0.4f -

0.3F

0.2H

0.1 i

r\t ' LT S o ) S oy i H+. e

O 1.0 1 I T T T T T OO AT T
= —=— DQM_V0001_R000000001__Global__mkFitbasel_ RECO
x 1§} .| —— DQM_v0001_R000000001__Global_|

0.95
107

[ Efficiency vs dr (track,jet) |

mkFitbase2_ RECO

1 1
TP min AR

§0.05
00.045
=
x
<]0.04
9.035
)
=0.03
o
j5=€).025
)
0.02
0.015
0.0
0.005
Vel

Ratio
N

0.95

=
S
w

-1

1
AR(TP, jét)

0.2

...................

...................

...................

-

80 100 120 140

Pileup



	Contents
	Page 1


